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A SN AIAE D
M JIGEXNSFE (MY - SAILLAHUX/MHRE - DEF

&t JIgENST (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXS XAt 19,829,641 50,407,497 A30,577,856
= 1,922,000
[ 152,750
= 7,485,350
Al 10,269,541
INGETNZI(MY - SAINSRLUUXI/ASBAE - DE3F 293,200 253,200 40,000
= 162,750
= 49,350
Al 91,100
JIEERSH 293,200 253,200 40,000
[ 152,750
= 49,350
Al 91,100
NYENSTEXS K 235,000 100,000 135,000
[ 152,750
= 49,350
Al 32,900
402 2IF X201 & 235,000 100,000 135,000
= 152,750
[ 49,350
Al 32,900
(2 DIZIXHE AT (OIF TR ) 235,000 100,000 135,000
ONYSNENLEZ N
235,000,000 235,000
= 152,750
< 49,350
Al 32,900
EX=A 58,200 163,200 285,000
201 er23| 57,200 162,200 285,000
01 At2teltl 57,200 152,200 /95,000
oget=ZH| 3,200,000& 3,200
OFI=X 82= MH 24,000,000 24,000
OFXRIdEe 24 10,000,000 10,000
OFNFXIARS 3o &=
4,800,000 4,800
Ok SENRIMEIIS SMUHE ===
12,000,000 12,000
OJIHEEXIAAE HIOIH Ol2=
3,200,000& 3,200
203 gF=4| 1,000 1,000
03 A=A 2= 1,000 1,000
OIS gdF=d 1,000,000& 1,000
AACHT] 22| (EL RGN L /AA ) 14,480,991 43,201,324 28,720,333
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1,922,000
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2l A =Y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 7,436,000
Al 5,122,991
AASX] T 10,971,771 31,587,749 A20,615,978
= 866,000
== 7,212,000
Al 2,893,771
AHEX xd & 2l 18,800 18,200 600
201 =3 6,800 7,200 A400
01 At2t2lt] 5,200 5,200 0
oget=ZH| 3,200,000 3,200
O=EH| 2,000,000& 2,000
02 S3=gHl 1,600 2,000 A400
Oss=2d € MA 1,600,000& 1,600
202 04| 10,000 8,000 2,000
01 =LHOHI 10,000 8,000 2,000
ORI 22| ¥R =X
10,000,000 10,000
203 HR=H] 2,000 3,000 21,000
03 A=A 2= 2,000 3,000 21,000
OatHEXIZE & 22| gF =4
2,000,000 2,000
BN S X 114,971 114,971 0
307 @120l & 114,971 114,971
02 QI BHANEEX 114,971 114,971
ogEs2=Feg Settll 2xs A
114,971,000 114,971
SYLEMPEI &M 7,100,000 25,500,000 18,400,000
= 7,100,000
401 AlZHIZ SO 7,100,000 25,500,000 18,400,000
== 7,100,000
01 Al&HI 7,100,000 25,500,000 18,400,000
OZL(SSWR0) LA ER] =4
7,100,000,000& 7,100,000
= 7,100,000
A NS LBRAATHR] K 2,500,000 0 2,500,000
401 AlEHIZ R0 2,500,000 2,500,000
01 Al&H| 2,491,000 2,491,000
OME HEUBMICHT T4
2,491,000,000& 2,491,000
03 AlESTHYI 9,000 0 9,000
OAE NSUUHIAET F4
9,000,000 9,000
J SIIIHHER R OIBANE-2FSHFAIE) 1,238,000 1,428,600 A190,600
= 866,000
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A AU 2el(REXXSFIHL/AHEX)
2l A =Y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 112,000
Al 260,000
401 Al HIZL 01| 1,238,000 1,428,600 A190,600
= 866,000
== 112,000
Al 260,000
01 Al&H| 1,234,560 1,428,600 194,040
OLEMBAIL HXITA
1,234,560,000& 1,234,560
= 864,080
== 111,620
Al 258,860
03 Al 20HHI 3,440 0 3,440
O2EMFAIE EXISA 3,440,000& 3,440
= 1,920
== 380
Al 1,140
AFACHX] 2kl 3,509,220 11,613,575 A\8,104,355
= 1,056,000
== 224,000
Al 2,229,220
AELBHAA ] 2l 1,708,820 1,345,575 363,245
101 e124d| 7,220 43,575 A36,35
M ORNZZ2NSE S 7,220 43,575 A36,355
OAHE L BrAACH] SAHH|(0=QIS)
161,858 x2&+x5 2 «32] 4,8%
OAIHLBIAACHT] SFHEI(ESQR)
78,8002 2 +5 2 x32| 2,364
201 fer= 3| 41,600 52,000 10,400
01 At 2|l 5,600 7,000 21,400
OZEt=EH| 5,600,000& 5,600
2 S52g4l 36,000 45,000 29,000
0Z332= % HMAl 32,000,000 32,000
OA&EHIS X 4,000,000 4,000
307 el2to| & 100,000 100,000
05 212t =S 100,000 100,000
OATEAl AHHEX] SEEtHIH EE2S
A& 100,000,000 100,000
308 AXIHMSO0IA 110,000 50,000 60,000
13 SI[2S0He & A AS A 110,000 50,000 60,000
OLErMAET] 2|2 A
110,000,000 110,000
401 Al HIZ 2018 1,450,000 1,200,000 250,000
01 Al&H| 1,450,000 1,200,000 250,000




SN SRR D
A AU 2el(REXXSFIHL/AHEX)
CHel: AHTHR] 2ol EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAXLEMAEX] AIEZ EHH]
100,000,000 100,000
OAMLBIMACHT] 22 S FUI(SE O
=) 1,000,000,000& 1,000,000
OMBHILBANT U ALSBET U &5
C2 FHI(SX HEH) 350,000,000 350,000
SE=IHE X 114,400 18,000 96,400
201 er23 | 114,400 18,000 96,400
01 At2teltl 114,400 18,000 96,400
O8E M € JIEE 7Y, M&
14,400,0002 14,400
OBBRINNEG 2 2T U B2
100,000,000 100,000
A2 JIYEE HE ALY 80,000 150,000 70,000
& 24,000
Al 56,000
401 Al HIZL 201 80,000 150,000 A70,000
= 24,000
Al 56,000
01 Al&H| 80,000 150,000 70,000
OAIEAl M (S3)ER I IHEA
80,000,000 80,000
=S 24,000
Al 56,000
A LBHAA (B 3)EHRI JHEHE (BE) 22 50,000 100,000 50,000
401 Al HIZL S 0HYI 50,000 100,000 /50,000
01 Al&HI 50,000 100,000 /50,000
OAMNHLEHAIA (SS) SR HLH = (HF )+
g S9H| 50,000,000 50,000
AR B AT SHAXHME ASA 1,556,000 0 1,566,000
= 1,056,000
& 200,000
Al 300,000
401 Al HIZL 201 1,556,000 0 1,556,000
= 1,056,000
< 200,000
Al 300,000
01 Al 1,556,000 0 1,556,000
OAFH2LBIMET] HAXRHE 7=
1,556,000,000& 1,566,000
= 1,056,000
== 200,000
Al 300,000
WRES (SN (FEXXISFIHL/AAEX]) 5,003,050 6,899,173 1,896,123
WA K& 3,015,558 5,599,173 A2,583,615
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=aak LH—rJ‘IEHﬂ% (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
WA XIE 3,015,558 5,599,173 N2,583,615
701 JIEtRIHISEHES 3,015,558 5,599,173 A2,583,615
01 JIE=I AN ES 3,015,558 5,599,173 N2,583,615
OssHAANLEEH HES
3,015,558,000& 3,015,558
SHEXE 1,987,492 1,300,000 687,492
AE NSLEAHER] XIS &t 1,987,492 1,300,000 687,492
311 XS0l Aratat 112,492 127,000 14,508
05 JIEtXI SO Xtat et 112,492 127,000 14,508
OAIE M LBAACTHI] XILH OIXH ate
112,491,920 112,492
601 Xt =SS akE 1,875,000 1,173,000 702,000
05 JIEt=UAIE SRS 1,875,000 1,173,000 702,000
OANE MBLPAITIT XIS 22 g
1,875,000,000& 1,875,000
HY 2SS ZHI(FASFRIAE ) (DIEHIIE 52,400 53,800 A1,400
J1I=288l 52,400 53,800 21,400
JI=23Hl 52,400 53,800 A1,400
201 2egh=3| 5,600 7,000 1,400
01 At2t2lt] 5,600 7,000 21,400
oget2dyl 5,600,000 5,600
202 04l 43,200 43,200
01 =LHAHI 43,200 43,200
OZHEHNH 20,0003 20 9L 12 43,200
203 =4l 3,600 3,600
04 PAE2EERFAH 3,600 3,600
ORMEIE = 300,000+ 12 3,600




